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T AERE 42 + 47 + 20 + 18 = 127 127 | 55
(B-7) 250kg (B-7) 50ke
A=Y 7 12.5 X 42 + 125 X 47 = 1112.5
(B-14) 250kg (B-14)50kg
10.3 X 20 + 9.0 X 18 = 368.0 1480 | m
(B-7) 250kg (B-7) 50kg
ERIELERAT 11.3 X 42 +  11.3 X 47 = 1005.7
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SRR
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AR BT S B CHTS2 5

A BT B &R

JaR D HRL P R IZ DHETE (50kg 1R THLR) HEEHRIRIE H= 15.15m H16 B-7 EL  2.50
[Z=14] [LEF—#]
HEA [ B A +5 IEIE N B IEIEN WWEE [ EED
AT R BT BOERE 3,000 m wWE 0 Z (=) 0 A oo qu
TRAT R IR EAE 300] km/hr BEVE 1 (m) (N) (kg/m3) (m) (kg/m2)
E1)E 1 1.65 12 1,700 1.705 173.5 15000
JaR i a2kt N — 50 K#k F2)= 1 0.85 8 1,700 0.878 173.5 10000
TR & BEE WS 50 ke 3= 0 1.15 50 1,800 1.188 183.7 0
PR D & WS/g m 5.102] (kg) FaE 0 1.00 25 1,800 1.033 183.7 0
JREHE O E BEEE D 0.208] m ¥5/E 0 1.00 47 1,800 1.033 183.7 0
RO JEE =D o 0.653] m $6)= 1 1.00 13 1,700 1.033 173.5 16250
AR AT 7D 2/4 | As 0.034] m2 F7)E 1 1.00 6 1,700 1.033 173.5 7500
BEHEOREX BEEE Ls 0.762] m $8JE 1 1.00 14 1,700 1.033 173.5 17500
5 HsE B V0 208] m/s ) 0 0.00 0 0 0.000 0.0 0
EMAE B2 0 14.6] JE FH10/E 0 0.00 0 0 0.000 0.0 0
N BEElE cd 0.7 ESNE] 0 0.00 0 0 0.000 0.0 0
EAPIE] 0 0.00 0 0 0.000 0.0 0
[ I E WEEfE | g | 9.8] m/s2
[E+5 ] G|
EIES 7’=7-CCS § ERENERZES TR IR | BEAGE R | IR | BARHRE
E & 0op=p/g F F’ K V1 V2 7’ 7
HifE R ) qu=(N=+28) X 10000 (N>=4DE) kg/cm2—kg/m2 (m/sec) | (m/sec) (m) (m)
qu=2+0.4 X H) X 1000 (N<4ADHEE) t/m2—kg/m2 ESNE 2,921.91] 2,871.91 2.063 208.0 99.3 1.650 1.650m
[EENES TN Fo)E 1,947.94 1,897.94 2.063 99.3 66.1 0.850 2.500m
2 | F=(40 X N X As) X 1000 t/m2—kg/m2 #3je | 67,958.93]  67,908.93 2.184 66.1 0.0 0.149 2.649m
FEPE ] F=5 X quXAs+0.1 X quXLsX ¢ ~2 FAke | 33,979.47]  33,929.47 2.184 0.0 0.0 0.000 0.000m
F'=F-mg 5k | 63,881.40] 63,831.40 2.184 0.0 0.0 0.000 0.000m
TEIREURE | K=(p p XAsXcd)+2 F6/E 3,165.40]  3,115.40 2.063 0.0 0.0 0.000 0.000m
HlE A okt Vo=J (FF +~K+V1 2exp(-2KZ ~m)-F +~K) VI=&J8 DO EE F7)E 1,460.95 1,410.95 2.063 0.0 0.0 0.000 0.000m
IR 2”=(m+KLNY (I+(K+F)XV12) V1=45 8 D) $8JE 3,408.89]  3,358.89 2.063 0.0 0.0 0.000 0.000m
$9)= 0.00 0.00 0.000 0.0 0.0 0.000 0.000m
F10)= 0.00 0.00 0.000 0.0 0.0 0.000 0.000m
ENIE] 0.00 0.00 0.000 0.0 0.0 0.000 0.000m
H12)= 0.00 0.00 0.000 0.0 0.0 0.000 0.000m
YR = 2.649m
HAE = 12.500m | BEBEE = 2.649m | HHEBENLOEE = 15.15m
S EL  -12.650m
(D) EMHIF A TRERFEE F1E 368~V 245
(2)BERE 25T (B EINU 0=1600
4<=N<15  p=1700
15N O 800
()RS HITBWT 15<=N a1 WE Lot U A 45 (PRl R R R T S L 0 S IS KA IR )




AR BT S B CHT PR 250 A A R B B AR

JR R DL B TR IZ DHETE (250kg 1R HR) HEEHRIRIE H= 15.60m H16 B-7 EL 2.50
[Z=14] [LEF—#]
HEA [ B E2ia Jt’f*f IEIE N B IEIEN WWEE (M EED
AT S B TFaE ETE 3,000 m e 7 ([a1) 0 A o o qu
TRAT R IR EAE 300] km/hr *ETE 1 (m) (N) (kg/m3) (m) (kg/m2)
E1)E 1 1.65 12 1,700 1.723 173.5 15000
JaR i a2kt N — 250] K#k F2)= 1 0.85 8 1,700 0.887 173.5 10000
PO BEE WS 238.2] kg 3= 0 1.15 50 1,800 1.201 183.7 0
FR D & WS/g m 24.306] (kg EE] 0 1.00 25 1,800 1.044 183.7 0
JREH O E BEEE D 0.361] m ¥5/E 0 1.00 47 1,800 1.044 183.7 0
REOEE zD o 1.134] m EX3E] 1 1.00 13 1,700 1.044 173.5 16250
Y sAL zD2/4 | As 0.102] m2 F7)E 1 1.00 6 1,700 1.044 173.5 7500
BHEOES BEE(E Ls 1.207] m $8JE 1 1.00 14 1,700 1.044 173.5 17500
7 HE Bl V0 225.8] m/s F9= 0 0.00 0 0 0.000 0.0 0
EHAE B2 0 16.7] B FH10/E 0 0.00 0 0 0.000 0.0 0
N BEEE cd 0.7 ESNE] 0 0.00 0 0 0.000 0.0 0
EAPIE] 0 0.00 0 0 0.000 0.0 0
[ I E WEEfE | g | 9.8] m/s2
[E+5 ] GRS
BE’ 7’=7-CCS § ERENERZES TR R | BEAGEEE |EIE R | BARHRE
E & op=p/g F F’ K V1 V2 7’ 7
Hi% S qu=(N=+28) X 10000 (N>=4DE) kg/cm2—kg/m2 (m/sec) | (m/sec) (m) (m)
qu=2+0.4 X H) X 1000 (N<4ADHEE) t/m2—kg/m2 ESNE 8,703.20]  8,465.00 6.214 225.8 142.6 1.650 1.650m
[ERENES %—“M%z Fo)E 5,802.13]  5,563.93 6.214 142.6 112.2 0.850 2.500m
2 | F=(40 X N X As) X 1000 t/m2—kg/m2 3@ | 204,707.75] 204,469.55 6.580 112.2 0.0 0.602 3.102m
FEPE ] F=5 X quXAs+0.1 X quXLsX ¢ ~2 #Ake | 102,353.87] 102,115.67 6.580 0.0 0.0 0.000 0.000m
F'=F-mg #5)8 | 192,425.28] 192,187.08 6.580 0.0 0.0 0.000 0.000m
TEIREURE | K=(p p XAsXcd)+2 F6/E 9,428.46]  9,190.26 6.214 0.0 0.0 0.000 0.000m
HlE A okt Vo=J (FF +~K+V1 2exp(-2KZ ~m)-F +~K) VI=&J8 DO EE F7)E 4,351.60] 4,113.40 6.214 0.0 0.0 0.000 0.000m
IR 2”=(m+KLNY (I+(K+F)XV12) V1=4% 8 D)5 8 | 10,153.73]  9,915.53 6.214 0.0 0.0 0.000 0.000m
$9)= 0.00 0.00 0.000 0.0 0.0 0.000 0.000m
F10)= 0.00 0.00 0.000 0.0 0.0 0.000 0.000m
ENIE] 0.00 0.00 0.000 0.0 0.0 0.000 0.000m
H12)= 0.00 0.00 0.000 0.0 0.0 0.000 0.000m
YR = 3.102m
HAE = 12.500m | BEBEE = 3.102m | HHENLOEE = 15.60m
S EL  -13.100m
(D) SEMHIF A TREFEE F1E 368~V 1245
(DY B ZASNT (B EZINU 0 =1600
4<=N<15  p=1700
15<=N O 800
()RS HITBWT 15<=N O W8 L oat e U m A5 (PRl R KRR T S 2L i A IS KA IR )
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AR BT S B CHT PR 250 A A R B B AR

J5 T DR VR FE D HE TE (50k g Bk pHL%) HEESIRVERE H= 8.50m H17 B-14 EL  2.56
[Z=14] [LEF—#]
B (e B E2ia Jt’f*f IEIE N B IEIEN WWEE [ EED
AT S BT BUEE 3,000 m wa Z (=) 0 A oo qu
TRAT R IR EAE 300] km/hr *ETE 1 (m) (N) (kg/m3) (m) (kg/m2)
E1)E 0 1.15 7 1,700 1.188 173.5 0
JaE iR oy R — 50 K#k F2)= 0 2.00 2 1,600 2.067 163.3 0
PR BEE WS 50 ke 3= 0 1.00 8 1,700 1.033 173.5 0
PR D WS/g m 5.102] (ko) FakE 0 1.00 11 1,700 1.033 173.5 0
JREH O E BEEE D 0.208] m ¥5/E 0 1.00 50 1,800 1.033 183.7 0
RO JEE D o 0.653] m $6)= 0 1.00 9 1,700 1.033 173.5 0
i e SATL D 2/4 | As 0.034] m2 F7)E 0 1.00 6 1,700 1.033 173.5 0
BEOES BEEE Ls 0.762] m $8JE 0 1.00 7 1,700 1.033 173.5 0
7 HE Bl V0 208] m/s F9= 0 1.00 8 1,700 1.033 173.5 0
EHAE B2 0 14.6] JE F10/E 0 1.00 6 1,700 1.033 173.5 0
[N BEEE cd 0.7 ESNE] 0 1.00 7 1,700 1.033 173.5 0
EAPIE] 0 1.00 21 1,800 1.033 183.7 0
[ I E WEEfE | g | 9.8] m/s2
[E+5 ] G|
BE’ 7’=7-CCS § ERENERZEN TR IR | BEAGE R | IR | BARHRE
g & pp=p/8 F F K V1 V2 7’ 7
Hi% S qu=(N=+28) X 10000 (N>=4DE) kg/cm2—kg/m2 (m/sec) | (m/sec) (m) (m)
qu=2+0.4 X H) X 1000 (N<4ADHEE) t/m2—kg/m2 ESNE 9,514.25]  9,464.25 2.063 208.0 117.1 1.150 1.150m
[ERENES %—“M%z Fo)E 2,718.36]  2,668.36 1.942 117.1 41.9 2.000 3.150m
2 | F=(40 X N X As) X 1000 t/m2—kg/m2 #3je | 10,873.43] 10,823.43 2.063 41.9 0.0 0.345 3.495m
FEPE ] F=5 X quXAs+0.1 X quXLsX ¢ ~2 Ak | 14,950.97]  14,900.97 2.063 0.0 0.0 0.000 0.000m
F'=F-mg 5k | 67,958.93]  67,908.93 2.184 0.0 0.0 0.000 0.000m
TEIREURE | K=(p p XAsXcd)+2 F6JE | 12,232.61] 12,182.61 2.063 0.0 0.0 0.000 0.000m
HlE A okt Vo=J (FF +~K+V1 2exp(-2KZ ~m)-F +~K) VI=&J8 DO EE F7)E 8,155.07]  8,105.07 2.063 0.0 0.0 0.000 0.000m
IR 2”=(m+KLNY (I+(K+F)XV12) V1=4% 8 D)5 $8JE 9,514.25]  9,464.25 2.063 0.0 0.0 0.000 0.000m
#9Je | 10,873.43] 10,823.43 2.063 0.0 0.0 0.000 0.000m
F10)= 8,155.07]  8,105.07 2.063 0.0 0.0 0.000 0.000m
ENIE] 9,514.25]  9,464.25 2.063 0.0 0.0 0.000 0.000m
122 | 28,542.75] 28,492.75 2.184 0.0 0.0 0.000 0.000m
YR = 3.495m
HHE = 5.000m | BEBEE = 3.495m | HHENSLOEE = 8.50m
S EL  -5.940m
(D) EMHIF A TRERFEE F1E 368~V 245
(DY B ZASNT (B EZINU 0 =1600
4<=N<15  p=1700
15N O 800
()RS HITBWT 15<=N a1 WE Lot U A 45 (PRl R R R T S L 0 S IS KA IR )




AR BT S B CHT PR 250 A A R B B AR

JRTR DI REE DHETE (250kg ik Hk) HEE BRI H= 9.77m H17 B-14 EL 2.56
[Z=14] [LEF—#]
B [FE B E2ia Jt’f*f IEIE N B IEIEN WWEE [ EED
AT S BTFEE ICETE 3,000 m e 7 ([a1) 0 A o o qu
TRAT IR IR EAE 300] km/hr *ETE 1 (m) (N) (kg/m3) (m) (kg/m2)
E1)E 0 1.15 7 1,700 1.201 173.5 0
JaR i a2kt N — 250] K#k F2)= 0 2.00 2 1,600 2.088 163.3 0
PO BEE WS 238.2] kg 3= 0 1.00 8 1,700 1.044 173.5 0
FR D & WS/g m 24.306] (kg EE] 0 1.00 11 1,700 1.044 173.5 0
JREH O E BEEE D 0.361] m ¥5/E 0 1.00 50 1,800 1.044 183.7 0
RO E 7 D o 1.134] m EIE] 0 1.00 9 1,700 1.044 173.5 0
Y sAL zD2/4 | As 0.102] m2 F7)E 0 1.00 6 1,700 1.044 173.5 0
BHEOES BEE(E Ls 1.207] m $8JE 0 1.00 7 1,700 1.044 173.5 0
7 HE Bl V0 225.8] m/s F9= 0 1.00 8 1,700 1.044 173.5 0
EMAE B2 [} 16.7] B FH10/E 0 1.00 6 1,700 1.044 173.5 0
N BEElE cd 0.7 ESNE] 0 1.00 7 1,700 1.044 173.5 0
H12)= 0 1.00 21 1,800 1.044 183.7 0
[ I E WEEfE | g | 9.8] m/s2
[E+5 ] GRS
BE’ 7’=7-CCS § ERENERZEN TR IR | BEAGE R | IR | BARHRE
E & op=p/g F F’ K V1 V2 7’ 7
Hi% S qu=(N=+28) X 10000 (N>=4DE) kg/cm2—kg/m2 (m/sec) | (m/sec) (m) (m)
qu=2+0.4 X H) X 1000 (N<4ADHEE) t/m2—kg/m2 F1je | 28,659.08] 28,420.88 6.214 225.8 159.7 1.150 1.150m
[ERENES %—“M%z Fo)E 8,188.31 7,950.11 5.849 159.7 92.0 2.000 3.150m
2 | F=(40 X N X As) X 1000 t/m2—kg/m2 3k | 32,753.24] 32,515.04 6.214 92.0 52.9 1.000 4.150m
FEPE ] F=5 X quXAs+0.1 X quXLsX ¢ ~2 #FAJm | 45,035.70]  44,797.50 6.214 52.9 0.0 0.615 4.765m
F'=F-mg #5)8 | 204,707.75] 204,469.55 6.580 0.0 0.0 0.000 0.000m
TEIREURE | K=(p p XAsXcd)+2 F6JE | 36,847.39] 36,609.19 6.214 0.0 0.0 0.000 0.000m
HlE A okt Vo=J (FF +~K+V1 2exp(-2KZ ~m)-F +~K) VI=&J8 DO EE B70E | 24,564.93]  24,326.73 6.214 0.0 0.0 0.000 0.000m
IR 2”=(m+KLNY (I+(K+F)XV12) V1=4% 8 D)5 8JE | 28,659.08] 28,420.88 6.214 0.0 0.0 0.000 0.000m
98 | 32,753.24] 32,515.04 6.214 0.0 0.0 0.000 0.000m
F10/= | 24,564.93] 24,326.73 6.214 0.0 0.0 0.000 0.000m
112 28,659.08] 28,420.88 6.214 0.0 0.0 0.000 0.000m
#12)= | 85,977.25] 85,739.05 6.580 0.0 0.0 0.000 0.000m
YR = 4.765m
HHE = 5.000m | BEBEE = 4.765m | HHENLOEE = 9.77m
S EL  -7.210m
(D) SEMHIF A TREERFEE F1E 368~V 1245
(DY ZASNT (B EZINU 0=1600
4<=N<15  p=1700
15<=N O 800
(3)KEEHITBWT 15<=N D W8 L oat e s m A 45 (PRl R R R S 24 0 A IS KA s IR )




